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For Problems 4 and 5, use the figure to the right.
4. Complete the proof to prove that AABC = AGDA.

Statements

Reasons

1. ZACD= <.

1

34

2

2. Given

3.

3.

4. AABC = ACDA

4,

347

5. Describe a sequence of two rigid motions that maps AABG = ACDA
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Given: isosceles triangle APQS with PQ = PS
and PR LQS
Prove: APQR = APSR




image9.png
Statements

Reasons

1.

1. Given

2. ZPRQand ZPRS are right
angles

2.

3. 3. Definition of right triangle
4. 4.
5. 5.
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The Hatfields and the McCoys are feuding over some land. Neither £
family will be satisfied unless the two triangular fields are exactly the
same size. Point C is the midpoint of each of the intersecting .
segments. Write a two-column proof that will settle the dispute. 8
Given: C is the midpoint of AD and BE.
Prove: AABC = ADEC
Statements Reasons
1. Cis the of and (1

2. Definition of

3. Definition of

4
5.
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Use the figure to the right to do the two-column proof.
4. Given: GH = KL; GH || KL; FL=JH
Prove: LFGH = ZJKL

Statements Reasons

1 1

2 2.
3 3.
4 4

5. 5.
6. 6.
7 7.
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Given: WX = YX; XZ is the perpendicular bisector of WY
Prove: £/W= Y

Statements Reasons |

2. 2. Definition of bisector

3. 3. Reflexive Property of
Congruence

4. AWXZ = AYXZ 4.
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Given: BA=BD, BE =BC
Prove: AABE = ADBC

Statements

Reasons

1 BA=BD

1. Given

2. Vertical Angles Theorem

3.
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Given: JMNK is a rectangle. ZIUK =

Prove: AIUK = ALMN

LMN, ZIKJ = ZLNM

Statements Reasons
1. ZWK = ZLMN, 1.
ZIKJ = ZLNM
2. JK=MN 2.
3. ANK = ALMN 3.
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Given: AB = DF, BC = FE, and AC = DF.

Prove: AABC = ADFE.
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Given: ZPQU = £TSU; ZQUR and £SUV are right angles; QU = SU
Prove: ZRUQ = £VUS

Statements Reasons
1 1
2 2 b
3. 3.
4 4
5 5 R
6. 6.





